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e 100.0 0.0 25.0 0.0 0.0 12.5 0.0 0.0 0.0 25.0 25.0 12.5
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BE 100.0 15.8 0.0 0.0 0.0 0.0 0.0 0.0 0.0 63.2 21.1 0.0
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BE 100.0 10.6 49 26 28 0.0 0.3 0.3 038 58.0 39 16.0
REE mEm | vo) ) ool o o ) op o o) 4 8] 1t
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X1 - EEH 158 28 4 9 3 1 0 1 0 87 9 16
b A 1 O e e o
BE 100.0 17.7 25 5.7 1.9 0.6 0.0 0.6 0.0 55.1 5.7 10.1
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40 AL [E1 % 3 469 8 2 16 34 2 0 0 2 365 9 31
= BE 100.0 1.7 0.4 3.4 7.2 0.4 0.0 0.0 0.4 778 1.9 6.6
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10 A EIR=%-¢ 21 0 0 1 0 0 2 1 0 15 2 0
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BE 100.0 14.3 24 36 1.2 0.0 1.2 0.0 10.7 51.2 36 11.9
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BE 100.0 25 0.6 1.2 0.6 0.4 1.3 1.0 038 76.2 5.2 10.2
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2E& 100.0 33 6.7 0.0 0.0 0.0 6.7 33 0.0 733 6.7 0.0
20 iZ Mt EIREE- 119 4 0 2 0 0 5 5 0 91 5 7
2E 100.0 34 0.0 1.7 0.0 0.0 42 42 0.0 76.5 42 5.9
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BE 100.0 28 0.2 0.9 0.0 0.4 15 1.3 0.6 76.6 5.2 10.5
ERgHhi [ % 3 578 16 4 9 3 2 11 6 7 446 22 52
E% BE 100.0 2.8 0.7 1.6 05 0.3 1.9 1.0 1.2 77.2 38 9.0
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